
语法魔王刷题班 第三节 

词法 

1. Last week local shrimpers held a news conference to take some credit for the 

resurgence of the rare Kemp's ridley turtle, saying that their compliance with 

laws requiring that turtle-excluder devices be on shrimp nets protect adult sea turtles. 

 

A. requiring that turtle-excluder devices be on shrimp nets protect  

B. requiring turtle-excluder devices on shrimp nets is protecting  

C. that require turtle-excluder devices on shrimp nets protect  

D. to require turtle-excluder devices on shrimp nets are protecting  

E. to require turtle-excluder devices on shrimp nets is protecting  

 

 

 

 

 

2. Diabetes, together with its serious complications, ranks as the nation's third leading 

cause of death, surpassed only by heart disease and cancer. 

 

A. ranks as the nation's third leading cause of death, surpassed only  

B. rank as the nation's third leading cause of death, only surpassed  

C. has the rank of the nation's third leading cause of death, only surpassed  

D. are the nation's third leading causes of death, surpassed only  

E. have been ranked as the nation's third leading causes of death, only surpassed   

 

 

 

 

 

3. Combining enormous physical strength with higher intelligence, the 

Neanderthals appear as equipped for facing any obstacle the environment could put 

in their path, but their relatively sudden disappearance during the Paleolithic era 

indicates that an inability to adapt to some environmental change led to their extinction. 

 

A. appear as equipped for facing any obstacle the environment could put in their path,  

B. appear to have been equipped to face any obstacle the environment could put in their 

path,  

C. appear as equipped to face any obstacle the environment could put in their paths,  

D. appeared as equipped to face any obstacle the environment could put in their paths,  

E. appeared to have been equipped for facing any obstacle the environment could put in 

their path,  

 

http://gmat.kmf.com/question/efa1ah/26344.html


4. By 1999, astronomers had discovered 17 nearby stars that are orbited by 

planets about the size of Jupiter. 

 

A. had discovered 17 nearby stars that are orbited by planets  

B. had discovered 17 nearby stars with planets orbiting them that were  

C. had discovered that there were 17 nearby stars that were orbited by planets  

D. have discovered 17 nearby stars with planets orbiting them that are  

E. have discovered that 17 nearby stars are orbited by planets  

 

 

 

 

 

 

5. Companies are relying more and more on networked computers for such critical tasks 

as inventory management, electronic funds transfer, and electronic data 

interchange, in which standard business transactions are handled via computer rather 

than on paper. 

 

A. in which standard business transactions are handled via computer rather than on 

paper  

B. where computers handle standard business transactions rather than on paper  

C. in which computers handle standard business transactions instead of on paper  

D. where standard business transactions are handled, not with paper, but instead via 

computer  

E. in which standard business transactions are being handled via computer, in place of 

on paper  

 

 

 

 

 

6. George Sand (Aurore Lucile Dupin) was one of the first European writers to consider 

the rural poor to be legitimate subjects for literature and portray these with sympathy 

and respect in her novels. 

 

A. to be legitimate subjects for literature and portray these  

B. should be legitimate subjects for literature and portray these  

C. as being legitimate subjects for literature and portraying them  

D. as if they were legitimate subjects for literature and portray them  

E. legitimate subjects for literature and to portray them  

 

 

 



 

7. In California, a lack of genetic variation in the Argentine ant has allowed the species 

to spread widely; due to their being so genetically similar to one another, the ants 

consider all their fellows to be a close relative and thus do not engage in the kind of 

fierce intercolony struggles that limits the spread of this species in its native Argentina. 

 

A. due to their being so genetically similar to one another, the ants consider all their 

fellows to be a close relative and thus do not engage in the kind of fierce intercolony 

struggles that limits   

B. due to its being so genetically similar the ant considers all its fellows to be a close 

relative and thus does not engage in the kind of fierce intercolnny struggles that limit  

C. because it is so genetically similar, the ant considers all its fellows to be close relatives 

and thus does not engage in the kind of fierce intercolony struggles that limits   

D. because they are so genetically similar to one another, the ants consider all their 

fellows to be close relatives and thus do not engage in the kind of fierce intercolony 

struggles that limit   

E. because of being so genetically similar to one another, the ants consider all their 

fellows to be a close relative and thus do not engage in the kind of fierce intercolony 

struggles that limits   

 

 

8. Nobody knows exactly how many languages there are in the world, partly because of 

the difficulty of distinguishing between a language and the sub-languages or dialects 

within it, but those who have tried to count typically have found about five thousand. 

 

A. and the sub-languages or dialects within it, but those who have tried to count typically 

have found   

B. and the sub-languages or dialects within them, with those who have tried counting 

typically finding   

C. and the sub-languages or dialects within it, but those who have tried counting it 

typically find   

D. or the sub-languages or dialects within them, but those who tried to count them 

typically found   

E. or the sub-languages or dialects within them, with those who have tried to count 

typically finding  

 

 

 

 

 

 

 

 

 



9. His studies of ice-polished rocks in his Alpine homeland, far outside the range of 

present-day glaciers, led Louis Agassiz in 1837 to propose the concept of an age in 

which great ice sheets had existed in now currently temperate areas. 

 

A. in which great ice sheets had existed in now currently temperate areas  

B. in which great ice sheets existed in what are now temperate areas  

C. when great ice sheets existed where there were areas now temperate  

D. when great ice sheets had existed in current temperate areas  

E. when great ice sheets existed in areas now that are temperate  

 

 

 

10. El Niño, the periodic abnormal warming of the sea surface off Peru, a phenomenon in 

which changes in the ocean and atmosphere combine allowing the warm water that 

has accumulated in the western Pacific to flow back to the east. 

A. a phenomenon in which changes in the ocean and atmosphere combine allowing the 

warm water that has accumulated  

B. a phenomenon where changes in the ocean and atmosphere are combining to allow 

the warm water that is accumulating  

C. a phenomenon in which ocean and atmosphere changes combine and which allows 

the warm water that is accumulated  

D. is a phenomenon in which changes in the ocean and atmosphere combine to allow 

the warm water that has accumulated  

E. is a phenomenon where ocean and atmosphere changes are combining and allow the 

warm water accumulating 

 

 

脑残 

11. The Olympic Games helped to keep peace among the pugnacious states of the 

Greek world in that a sacred truce was proclaimed during the festival's month. 

 

A. world in that a sacred truce was proclaimed during the festival's month  

B. world, proclaiming a sacred truce during the festival's month  

C. world when they proclaimed a sacred truce for the festival month  

D. world, for a sacred truce was proclaimed during the month of the festival  

E. world by proclamation of a sacred truce that was for the month of the festival  

 

 

 

 

 

 

 



12. A leading figure in the Scottish Enlightenment, Adam Smith's two major books are to 

democratic capitalism what Marx's Das Kapital is to socialism. 

 

A. Adam Smith's two major books are to democratic capitalism what  

B. Adam Smith's two major books are to democratic capitalism like  

C. Adam Smith's two major books are to democratic capitalism just as  

D. Adam Smith wrote two major books that are to democratic capitalism similar to  

E. Adam Smith wrote two major books that are to democratic capitalism what  

 

 

 

 

13. Because there are provisions of the new maritime code that provide that even tiny 

islets can be the basis for claims to the fisheries and oil fields of large sea areas, they 

have already stimulated international disputes over uninhabited islands. 

 

A. Because there are provisions of the new maritime code that provide that even tiny 

islets can be the basis for claims to the fisheries and oil fields of large sea areas, they 

have already stimulated  

B. Because the new maritime code provides that even tiny islets can be the basis for 

claims to the fisheries and oil fields of large sea areas, it has already stimulated  

C. Even tiny islets can be the basis for claims to the fisheries and oil fields of large sea 

areas under provisions of the new maritime code, already stimulating  

D. Because even tiny islets can be the basis for claims to the fisheries and oil fields of 

large sea areas under provisions of the new maritime code, this has already 

stimulated  

E. Because even tiny islets can be the basis for claims to the fisheries and oil fields of 

large sea areas under provisions of the new maritime code, which is already 

stimulating  

 

 

14. Traffic safety officials predict that drivers will be equally likely to exceed the proposed 

speed limit as the current one. 

 

A. equally likely to exceed the proposed speed limit as  

B. equally likely to exceed the proposed speed limit as they are  

C. equally likely that they will exceed the proposed speed limit as  

D. as likely that they will exceed the proposed speed limit as  

E. as likely to exceed the proposed speed limit as they are.  

 

 

 

 

 



 

15. A professor at the university has taken a sabbatical to research on James Baldwin's 

books that Baldwin wrote in France while he was living there. 

 

A. On James Baldwin's books that Baldwin wrote in France while he was living there   

B. about the books James Baldwin wrote in France   

C. into James Baldwin's books written while in France   

D. on the books of James Baldwin, written while he lived in France   

E. the books James Baldwin wrote while he lived in France   

 

 

 

 

 

 

16. Mauritius was a British colony for almost 200 years, excepting for the domains of 

administration and teaching, the English language was never really spoken on the 

island. 

 

A. excepting for   

B. except in   

C. but except in   

D. but excepting for   

E. with the exception of   
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